g 01 & o Ak TR

% A (HE - 1)
K IH & i)

1 [ERAERERERB 1,583,369
1 [ERAERR BB 1,583,369
2 e KO HA 8,300
1 AH#H & 8,300
3 AR Ot 800
1 F % K 800
4 [EES A 1,965,525
1 [EEAHA 1,368,298
2 [EEAE 597,227
5 RaEkT RS e 459,139
1 WEGNEELZ 2 459,139
6 A ElinE 24 1,835,259
1 AT A A4 1,835,259
7 RXte 315,522
1 RedHe 42,630
2 A4 272,892
8 I FEL 4 982,944
1 JLFEFER e 982,944
9 WA 300
1 MREEE AU 300
10 # A & 565,395
1 fh=FHEAR 378,310
PR YN 187,085
11 # B & 2
1 4 & 2
12 7% W A 11,445
1 FEHE4 R ONE R} 743
2 M A 10,702
% A = it 7,728,000




e Hi (H47 - TH)

K IH & i)
1 BB & 122,350
1 FegsE s 114,332
2 B & 7,518
3 EEWEANE 500
2 PRBRART 5,330,332
1 RERE 4,719,606
2 AR 583,224
3 B X H 2
4 HWEFRHEE 21,000
5 % & & 6,500
3 ‘HEmE SEeE 828,188
1 #BW&EmE SRes 828,188
4  Eil SRR A 2,407
1 AT A 2,407
5 FAfRAEALH 4 635
1 Z ARG 4 635
6 IS 370,613
1 it 370,613
7 JERFEFEH 4 979,729
1 JLFEFEE A 979,729
8 IRl 59,214
1 PrRbEdEsy 59,214
9 E&efie 328
1 HEefbrie 328
10 28 15 % 300
1 & & 300
11 FEH e 13,904
1 fER4E K OSERINE 4 13,903
2 M & 1
12 7 i & 20,000
1 7 i # 20,000
% = 7 7,728,000




N s H T R E B M

1 &

% A) (HE - 1)

K AT R AITARJE T R4 L L%

1 EREFRRBER 1,583,369 1,501,087 82,282
2 e KOV HA 8,300 8,300 0
3 AR O ARt 800 800 0
4 [EES A 1,965,525 1,778,643 186,882
5 JREMEELZ e 459,139 467,358 8,219
6 A ElinE 24 1,835,259 1,680,924 154,335
7 RXte 315,522 277,708 37,814
8 JLRIFHEAL A 982,944 889,770 93,174
9 WA 300 300 0
10 % A & 565,395 712,062 /146,667
11 # B & 2 2 0
12 7% W A 11,445 4,046 7,399

w AN & Fh 7,728,000 7,321,000 407,000




sk H) (BiA7 - TF)

%N s B T e HH D 22 /7 M EN
K AT R RITARPE T 48 L L iy iE iy R o .
[l St R I W z o i e

1% % & 122,350 154,691 N\32,341 400 110,704 11,246
2 {RBRAGHTE 5,330,332 5,041,612 288,720 1,362,001 170,360 2,910,403 887,568
3 BMimmE S ReE 828,188 758,325 69,863 400,074 47,051 43,884 337,179
4 Hi E e 5 2,407 1,409 998 2,407
5 & ANPRGEHLHI 4 635 1,802 A1,167 281 33 321
6 it 370,613 368,347 2,266 160,139 22,236 188,238
7 Jh[E L A 979,729 899,149 80,580 37,075 37,075 356,247 549,332
8 PRI L 59,214 61,033 A1,819 5,555 38,767 8,300 6,592
9 FeRNIA 328 328 0 300 28
10 2 15 % 300 300 0 300
11 G4 13,904 14,004 100 13,904
12 7 i % 20,000 20,000 0 20,000

o A & 7,728,000 7,321,000 407,000 1,965,525 315,522 3,429,838 2,017,115




&

A

(Hf7 = 1)

fi .
B H

. & #

1T 2L 925,339 BIESE Sy 911,188
ﬁﬁﬁﬁm WEEIE 5y 14,151
77
T3 291,830 B oy 288,657
%%%ﬁﬁ B 5y 3,173
i 73
IR 134,340 | 1 BUFESy 132,253
BUERBL WSy 2,087
IR Aa T B 63,360 TSy 63,360
;ati%%m%ﬁs@z

77
% W milin g 7,542 TSy 7,542
%%%ﬁﬁ
AR
IrEAnfs & 8,640 ey 8,640
;aj‘%%m%s?s@z

77

1T 2L 88,287 BIESE Sy 87,317
ﬁﬁﬁﬁm W 5y 970
77
I mtn 28,625 B oy 28,431
%%%ﬁﬁ WSy 194
i i)
IR 4 28,906 | 1 BfEEy 28,712
BUAERRBL 7y AR 5y 194
IR B 5,150 TSy 5,150
;ati%%m%ﬁs@z

77
I i 450 TS oy 450
%&%ﬁﬁ
e )
SRR 4 900 T oy 900
ﬁﬁm@@

77
e — 8,300 el — A e 8,300
HAe

(&) 1 [ERAEEELRIRAL
(I87) 1 [E BRI
B/ TH H YN S EI i3 ke L%
] PRl B OB B 1,583,369 1,501,087 82,282
1 ] B A R AR 1,583,369 1,501,087 82,282
1| — PR R [E R PRI 1,431,051 1,386,131 44,920
2 %;H&%Bz%@%%&@ﬁ%{%@ 152,318 114,956 37,362
Sy P4 J OVA fH 42 8,300 8,300 0
1 f H & 8,300 8,300 0
1| FrEfde A4 8,300 8,300 0
fi FEE M OVt 800 800 0
([ B R OB 1 = 5
_1_




() 3 HUTEROFRR
E) 1 F B

(B47 2 TH)
B 3
X 4 4 M
B THk} 800 | 1 [ERBIEETHokt 800
BB Sy 1,325,667 | 1 BEHEEAHSE 1,199,444
2%A%@E$%mméﬁan 191
3 IR A4 126,008
4%#%@i§0ﬁtw 24
WA FE Sy 1| 1 @BFEREAA 1
BRI B 37,075 | 1 mHERE LA FEAMNE 37,075
HFRIFEA
4
FrE D 5,555 | 1 HFEMEZESEAISE 5,555
HEA A
T ECHE AR 595,827 | 1 Wi AL T4 561,013
£+ 4 2 FERIGREE AT 4 34,814
HPER i — 1,000 | 1 HHpEF R —Krefibhe 1,000
i
e R R 400 | 1 =iinag P R Y v R B A 400
il B 3 e
H A B
4>
1 BIFERES 459,138 | 1 BRI EERF4E& 459,138
2 WSy 1| 1 @BFEREEAA Y 1
1 BIFERES 1,835,259 | 1 miffimiind 2 ft4 1,835,259

#* TH H YN S EI i3 ke L%
1 F o 800 800 0
1| BYRTHck 800 800 0
[ e S H 4 1,965,525 1,778,643 186,882
1 ] Je 4 $H 4 1,368,298 1,216,432 151,866
1| EEBFTEEAES 1,325,668 1,178,072 147,596
2 | BREERALFE R EAHS 37,075 32,805 4,270
3| FFERREDESEANS 5,555 5,555 0
2 [ B A/ B 4 597,227 562,211 35,016
1| M EGREE AR 4 595,827 558,504 37,323
2 | HpER IR —Hi e mih & 1,000 1,000 0
3 | e P B Y e T S 400 0 400
i Bh4
O | It il B ke 5] 0 2,707 N2,707
A4
WEEIG B ST 4 459,139 467,358 8,219
1 B IG EEA T4 459,139 467,358 8,219
1 | BB LR 459,139 467,358 8,219
AT i A A4 1,835,259 1,680,924 154,335
1 T3] o A2 A4 1,835,259 1,680,924 154,335
1| B S S A A4 1,835,259 1,680,924 154,335
B3z H 4 315,522 277,708 37,814
1 A H 4 42,630 31,147 11,483
([ B R OB 1 = 5




(&) 7 B4
(I87) 1 BAHEe
E 5 H YN S EI i3 ke L%
1| BREERE LR EANS 37,075 25,592 11,483
2 | FrERES RS A S 5,555 5,555 0
2 B A D 4 272,892 246,561 26,331
1| RV BEREA 4 272,892 246,561 26,331
8 R4 982,944 889,770 93,174
1 LR FHERZ T4 982,944 889,770 93,174
1| BREERE LR R 4 149,989 121,004 28,985
2 %@%ﬁiﬁ%ﬁk%%ﬁﬁ 832,955 768,766 64,189
o ol
9 M EEIUN 300 300 0
1 A S I 300 300 0
1| FF R OV Y 4 300 300 0
10 N 4 565,395 712,062 A\146,667
1 fth g A4 378,310 426,043 N47,733
1| — RS itiA 4 378,310 426,043 N47,733
2 P YN 187,085 286,019 /98,934
1| [ B HE ORI AG F 45 Y 187,085 286,019 98,934
YN
11 o 4 2 2 0
1 o 4 2 2 0
1 | BT B A Al 4 1 1 0
([ B R OB 1 = 5
_5_

(BT« 1)
i .
i g
X 4 &
1 rBHE R 37,075 | 1 mfAERAILE A A 37,075
SR =
4
1 FpiEfRes 5,555 | 1 FpiEfERERASAMAE 5,555
A
1 R BGR % 272,892 | 1 JLUEAZ(T4 239,680
24 2 SR 4 33,212
1 mBAE R 149,989 | 1 pAHEERR HILIF F A2 4 149,989
SR =
4
1 PRI B 832,955 | 1 {RERIMBOILFZE L FAAN 4 832,955
[FEyisias
R
1%@@%& 300 | 1 [ ECHRECRIRAE S5 YR G A 300
1 it 378,310 | 1 PRERILARZE A4 209,314
A& 2 W Efe 5 AN 83,759
3 HPER WL A4 14,000
4 B AL SR A 2 44,291
5 B NG 26,945
6 T DA 1
1 [EEAEHELR 187,085 | 1 [E RAERECRIRAG {5 (R H B A2 187,085
BRAG £ S5 1
fifi H A
&
S JlNE ¢ 1] 1 RAHa A B A2 il fr 1

5 s e
il




#* TH H VNI EI i3 ke L%
2 | & O 1 1 0
12 ERIEUN 11,445 4,046 7,399
1 FETHE 4 K DN 743 743 0
1| — R BR e 4 M O 741 741 0
2 ﬁﬁﬁ%@%%ﬁﬁ@&@@ 2 2 0
2 MEON 10,702 3,303 7,399
1| E=F 4 10,000 3,001 6,999
2 | iR W 4 701 301 400
3| M A 1 1 0
([ B R OB 1 = 5

(B47 2 TH)
B 3

X 4 4 M
Z Dk 1 B4 B il 4 1
4>
— RO 741 — B PRI BT 4 M DN 741
F A M
[O5IEY8
IR LR PR 2 SRR LR R S AE 1 4 Je Ot et 2
HE I A
KOt
— A PRER 5,000 AR ORIRAE HE =EA & 5,000
HEE W
14
JRHER Y PR B 5,000 IRk R R 25 58 = & 5,000
HER
LIRS
— A ORI 700 — R PR R I 4 700
BT MK
JRER AR IR 1 JRIRRA R R 5 4 1
e SUT
HE A 1 MEN 1




&

A

(Hf7 = 1)

fi .
B H

. & #

1T 2L 925,339 BIESE Sy 911,188
ﬁﬁﬁﬁm WEEIE 5y 14,151
77
T3 291,830 B oy 288,657
%%%ﬁﬁ B 5y 3,173
i 73
IR 134,340 | 1 BUFESy 132,253
BUERBL WSy 2,087
IR Aa T B 63,360 TSy 63,360
;ati%%m%ﬁs@z

77
% W milin g 7,542 TSy 7,542
%%%ﬁﬁ
AR
IrEAnfs & 8,640 ey 8,640
;aj‘%%m%s?s@z

77

1T 2L 88,287 BIESE Sy 87,317
ﬁﬁﬁﬁm W 5y 970
77
I mtn 28,625 B oy 28,431
%%%ﬁﬁ WSy 194
i i)
IR 4 28,906 | 1 BfEEy 28,712
BUAERRBL 7y AR 5y 194
IR B 5,150 TSy 5,150
;ati%%m%ﬁs@z

77
I i 450 TS oy 450
%&%ﬁﬁ
e )
SRR 4 900 T oy 900
ﬁﬁm@@

77
e — 8,300 el — A e 8,300
HAe

(&) 1 [ERAEEELRIRAL
(I87) 1 [E BRI
B/ TH H YN S EI i3 ke L%
] PRl B OB B 1,583,369 1,501,087 82,282
1 ] B A R AR 1,583,369 1,501,087 82,282
1| — PR R [E R PRI 1,431,051 1,386,131 44,920
2 %;H&%Bz%@%%&@ﬁ%{%@ 152,318 114,956 37,362
Sy P4 J OVA fH 42 8,300 8,300 0
1 f H & 8,300 8,300 0
1| FrEfde A4 8,300 8,300 0
fi FEE M OVt 800 800 0
([ B R OB 1 = 5
_1_




() 3 HUTEROFRR
E) 1 F B

(B47 2 TH)
B 3
X 4 4 M
B THk} 800 | 1 [ERBIEETHokt 800
BB Sy 1,325,667 | 1 BEHEEAHSE 1,199,444
2%A%@E$%mméﬁan 191
3 IR A4 126,008
4%#%@i§0ﬁtw 24
WA FE Sy 1| 1 @BFEREAA 1
BRI B 37,075 | 1 mHERE LA FEAMNE 37,075
HFRIFEA
4
FrE D 5,555 | 1 HFEMEZESEAISE 5,555
HEA A
T ECHE AR 595,827 | 1 Wi AL T4 561,013
£+ 4 2 FERIGREE AT 4 34,814
HPER i — 1,000 | 1 HHpEF R —Krefibhe 1,000
i
e R R 400 | 1 =iinag P R Y v R B A 400
il B 3 e
H A B
4>
1 BIFERES 459,138 | 1 BRI EERF4E& 459,138
2 WSy 1| 1 @BFEREEAA Y 1
1 BIFERES 1,835,259 | 1 miffimiind 2 ft4 1,835,259

#* TH H YN S EI i3 ke L%
1 F o 800 800 0
1| BYRTHck 800 800 0
[ e S H 4 1,965,525 1,778,643 186,882
1 ] Je 4 $H 4 1,368,298 1,216,432 151,866
1| EEBFTEEAES 1,325,668 1,178,072 147,596
2 | BREERALFE R EAHS 37,075 32,805 4,270
3| FFERREDESEANS 5,555 5,555 0
2 [ B A/ B 4 597,227 562,211 35,016
1| M EGREE AR 4 595,827 558,504 37,323
2 | HpER IR —Hi e mih & 1,000 1,000 0
3 | e P B Y e T S 400 0 400
i Bh4
O | It il B ke 5] 0 2,707 N2,707
A4
WEEIG B ST 4 459,139 467,358 8,219
1 B IG EEA T4 459,139 467,358 8,219
1 | BB LR 459,139 467,358 8,219
AT i A A4 1,835,259 1,680,924 154,335
1 T3] o A2 A4 1,835,259 1,680,924 154,335
1| B S S A A4 1,835,259 1,680,924 154,335
B3z H 4 315,522 277,708 37,814
1 A H 4 42,630 31,147 11,483
([ B R OB 1 = 5




(&) 7 B4
(I87) 1 BAHEe
E 5 H YN S EI i3 ke L%
1| BREERE LR EANS 37,075 25,592 11,483
2 | FrERES RS A S 5,555 5,555 0
2 B A D 4 272,892 246,561 26,331
1| RV BEREA 4 272,892 246,561 26,331
8 R4 982,944 889,770 93,174
1 LR FHERZ T4 982,944 889,770 93,174
1| BREERE LR R 4 149,989 121,004 28,985
2 %@%ﬁiﬁ%ﬁk%%ﬁﬁ 832,955 768,766 64,189
o ol
9 M EEIUN 300 300 0
1 A S I 300 300 0
1| FF R OV Y 4 300 300 0
10 N 4 565,395 712,062 A\146,667
1 fth g A4 378,310 426,043 N47,733
1| — RS itiA 4 378,310 426,043 N47,733
2 P YN 187,085 286,019 /98,934
1| [ B HE ORI AG F 45 Y 187,085 286,019 98,934
YN
11 o 4 2 2 0
1 o 4 2 2 0
1 | BT B A Al 4 1 1 0
([ B R OB 1 = 5
_5_

(BT« 1)
i .
i g
X 4 &
1 rBHE R 37,075 | 1 mfAERAILE A A 37,075
SR =
4
1 FpiEfRes 5,555 | 1 FpiEfERERASAMAE 5,555
A
1 R BGR % 272,892 | 1 JLUEAZ(T4 239,680
24 2 SR 4 33,212
1 mBAE R 149,989 | 1 pAHEERR HILIF F A2 4 149,989
SR =
4
1 PRI B 832,955 | 1 {RERIMBOILFZE L FAAN 4 832,955
[FEyisias
R
1%@@%& 300 | 1 [ ECHRECRIRAE S5 YR G A 300
1 it 378,310 | 1 PRERILARZE A4 209,314
A& 2 W Efe 5 AN 83,759
3 HPER WL A4 14,000
4 B AL SR A 2 44,291
5 B NG 26,945
6 T DA 1
1 [EEAEHELR 187,085 | 1 [E RAERECRIRAG {5 (R H B A2 187,085
BRAG £ S5 1
fifi H A
&
S JlNE ¢ 1] 1 RAHa A B A2 il fr 1

5 s e
il




#* TH H VNI EI i3 ke L%
2 | & O 1 1 0
12 ERIEUN 11,445 4,046 7,399
1 FETHE 4 K DN 743 743 0
1| — R BR e 4 M O 741 741 0
2 ﬁﬁﬁ%@%%ﬁﬁ@&@@ 2 2 0
2 MEON 10,702 3,303 7,399
1| E=F 4 10,000 3,001 6,999
2 | iR W 4 701 301 400
3| M A 1 1 0
([ B R OB 1 = 5

(B47 2 TH)
B 3

X 4 4 M
Z Dk 1 B4 B il 4 1
4>
— RO 741 — B PRI BT 4 M DN 741
F A M
[O5IEY8
IR LR PR 2 SRR LR R S AE 1 4 Je Ot et 2
HE I A
KOt
— A PRER 5,000 AR ORIRAE HE =EA & 5,000
HEE W
14
JRHER Y PR B 5,000 IRk R R 25 58 = & 5,000
HER
LIRS
— A ORI 700 — R PR R I 4 700
BT MK
JRER AR IR 1 JRIRRA R R 5 4 1
e SUT
HE A 1 MEN 1




